
// main for testing HashTable

public static void main(String[] args)

{


HashTable T = new HashTable(13);


T.printListSizes();


System.out.println("load factor = " + T.loadFactor());


T.printTable();




// Store some records in the table


T.insert(new Record(911,"Sneezy"));


T.insert(new Record(812,"Sleepy"));


T.insert(new Record(512,"Dopey"));


T.insert(new Record(882,"Doc"));


T.insert(new Record(501,"Happy"));


T.insert(new Record(381,"Bashful"));


T.insert(new Record(273,"Grumpy"));


T.insert(new Record(780,"Hal-9000"));


T.insert(new Record(565,"Freddy Krueger"));


T.insert(new Record(592,"Buzz Lightyear"));


T.insert(new Record(469,"Scarlett O'Hara"));


T.insert(new Record(274,"Princess Leia"));


T.insert(new Record(124,"Jessica Rabbit"));


T.insert(new Record(421,"Dracula"));


T.insert(new Record(346,"Wolverine"));


T.insert(new Record(216,"Axel Foley"));


T.insert(new Record(959,"Marge Gunderson"));


T.insert(new Record(450,"E.T."));


T.insert(new Record(656,"Atticus Finch"));


T.insert(new Record(709,"White Goodman"));


T.insert(new Record(128,"Wall-E"));


T.insert(new Record(223,"R.P. McMurphy"));


T.insert(new Record(717,"Darth Vader"));


T.insert(new Record(652,"The Joker"));


T.insert(new Record(686,"Han Solo"));


T.insert(new Record(746,"Indiana Jones"));


T.insert(new Record(524,"The Dude"));


T.insert(new Record(386,"Ellen Ripley"));


T.insert(new Record(880,"James Bond"));


T.insert(new Record(965,"John McClane"));


T.insert(new Record(494,"Gollum"));


T.insert(new Record(782,"The Terminator"));


T.insert(new Record(445,"Ferris Bueller"));


T.insert(new Record(160,"Neo"));


T.insert(new Record(305,"Hans Gruber"));


T.insert(new Record(850,"Forrest Gump"));


T.insert(new Record(160,"Yoda"));


T.insert(new Record(419,"Ron Burgundy"));


T.insert(new Record(758,"Gandalf"));


T.insert(new Record(343,"Aragorn"));


T.insert(new Record(343,"Aragorn"));


T.insert(new Record(343,"Aragorn"));


T.insert(new Record(343,"Aragorn"));


System.out.println("\n\n\nafter a bunch of inserts...");


// test the other class methods


T.printListSizes();


double loadF = T.loadFactor();


System.out.println("\nCurrent load factor = " + loadF);


T.printTable();


System.out.println("\n\nfind(524) returns: " + T.find(524));


if(!T.delete(524))



System.out.println("failed deletion for k = 999");


System.out.println("\nafter delete(524), find(524) returns: " + T.find(524));


System.out.println("\nfind(565) returns: " + T.find(565));


if(!T.delete(565))



System.out.println("failed deletion for k = 999");


System.out.println("\nafter delete(565), find(565) returns: " + T.find(524));


System.out.println("\nafter 2 deletions, load factor = " + T.loadFactor());


System.out.println("\nfind(999) returns: " + T.find(999));


if(!T.delete(999))



System.out.println("failed deletion for k = 999");


System.out.println("\nafter delete(999), find(999) returns: " + T.find(999));


System.out.println("\nafter a failed deletion, load factor = " + T.loadFactor());


if(!T.delete(128))



System.out.println("failed deletion for k = 128");


if(!T.delete(882))



System.out.println("failed deletion for k = 882");


if(!T.delete(103))



System.out.println("failed deletion for k = 103");


T.printTable();

}
